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Problem

In the state of New York, disability is in a three digit percentage. The
program allows for a two digit field for Supplemental Benefits in the Other
Rates & Limits Section.

* * THE FOLLOWING CHANGES ARE OPTIONAL! * *

Solution

To enlarge the field to a three (3) digit field, follow the steps listed
be low.

1. Backup the diskette(s) and make the changes on the Backup copy of the
program.

2. 1In BASIC load the program by typing LOAD'CHNGCO".

3. Make the following corrections:

CHANGES (Retype the line or refer to the Edit section of the owners manual)

01d Line: 167¢ FORI=1TO8:PRINT@(I+6,0),R$;USING" ## '";I;:PRINTNS;TAB(10);
C6$(I);:FORK=1T02: J=VAL(MID$(C7$(1),2%K-1,2)): IFJ>PAND(I=50RI=6)
ANDK=1THENPRINTTAB(K*13+12) ;USINGF7$;FT#(J) ;ELSEIFJ>@THENPRINTTAB
(K*13+12) ;USINGF9S$;FT#(J);

New Line: 167§ FORI=1TO8:PRINT@(I+6,0) ,R$;USING" ## ';I;:PRINTN$;TAB(10);
C6$(1);:FORK=1TO2: J=VAL(MID$(C7$(1),2%K-1,2)): IFJ>PAND(I=20RI
=50RI=6)ANDK=1THENPRINTTAB(K*13+12) ;USINGF7$;FT#(J);ELSEIFJ>@THEN
PRINTTAB(K*13+12) ;USINGF9$ ;FT#(J);

01d Line: 1769 PRINT@(19,¢),EL$:PRINT@(19,8),P$;C6$(1);" ";:FL=8:GOSUB312:
IFCF=10RCF=2THENK=2: NEXT :GOTO171@ELSEIFLEN(IN$)>@THENFT#(J)=VAL
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Subject

01d Line:

(IN$):IF(I=50RI=6)ANDK=1THENPRINT@(I+6,K*13+12) USINGF7$;FT#(J);
ELSEPRINT@(I+6,K*13+12) ,USINGF9$ ;FT#(J);

17680 PRINT@(19,0),EL$:PRINT@(19,8),P$;C6$(I);" ";:FL=8:GOSUB312:
IFCF=10RCF=2THENK=2: NEXT : GOTO171@ELSEIFLEN(INS ) >@THENFT#(J)=VAL
(IN$):IF(I=20RI=50RI=6)ANDK=1THENPRINT@(I+6 ,K*13+12) USINGF7$;
FT#(J) ;ELSEPRINT@(I+6,K*13+12) ,USINGF9S$;FT#(J);

2240 FORI=1TO8:LPRINTTAB(1@);C6$(I);:FORK=1T02: J=VAL(MID$(C7$(I),
2%K-1,2)) : IFJ>PAND(I=50RI1=6 ) ANDK=1THENLPRINTTAB(K*13+12);
USINGF7$;FT#(J);ELSEIFJ>PTHENLPRINTTAB(K*13+12) ;USINGF9$ ;FT#(J); .

2240 FORI=1TO08:LPRINTTAB(1@);C6$(I);:FORK=1T02:J=VAL(MID$(C7$(1),
2%K-1,2)) : IFJ>PAND(I=20RI=50RI=6 ) ANDK=1THENLPRINTTAB(K*13+12);
USINGF7$;FT#(J) ;ELSEIFJ>@THENLPRINTTAB(K*13+12) ;USINGF9$ ;FT#(J);




